N

addazyi
CBSE CTET 2021 S2

Application No
Candidate Name

Roll No.

Test Date 06/01/2022

Test Time 2:30 PM - 5:00 PM
Subject P2 Hindi and English MS

1 g T 3 STE, WA S I e AT e e 4 S —
Options1. Wgﬁ
2 QTS 2 TR
3. QS

2

4 g

Question Type : MCQ
Status : Answered
Chosen Option : 2

Y e T U AT SR T 3aTe 27
OPHOM 1. B e | = 3 TR 3 o I e e
2. T AT U % T 78 T e
CGmmrEr more et E e s

3 o e T T AT e Y 2 ST e e

Question Type : MCQ
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.6 Inclusive Education proposes that we should modify the the to include the

Options 1. system, learner
2. society, school curriculum
3. learner, system
4. school curriculum, competition

Question Type : MCQ
Status : Answered
Chosen Option: 1
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.9 Facilitating discussion on real-life problems and encouraging students for reflecting on
different perspectives will be helpful in developing among students.

Options 1. Egocentrism

2. Misconceptions
3. Docility

4. Critical thinking

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.11 Which of the following pedagogical strategy promotes critical thinking?
Options 1. Brainstorming
2. Direct Instruction.
3. Copying answers written by the teacher on the blackboard.
4. Writing passages from the textbook multiple times.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.12 Contemporary perspectives in child development view -
Options 1. childhood as culture-specific and socially constructed.
2. child as a physiological entity

3. child as a biological category

4. childhood as dividend into eight distinct stages

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.14 Which of the following factors hinders successful inclusion of students with locomotor
disabilities?

Options 1. Empathetic attitude
2. Flexible curriculum
3. Comprehensive evaluation
4. Inaccessible infrastructure

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.15 A child is given 20 brown wooden beads and 2 white wooden beads and is asked, “Are
there more white wooded beads or more brown beads?’ The child says, ' There are more
brown beads.” As per Piaget’s cognitive development theory she /he is in
stage.

Options 1. Formal operational
2. Preoperational

3. Sensorimotor

4. Concrete operational

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.16 Which of the following principles is advocated by Right of Persons with Disabilities Act,
2016?

Options 1. Integration
2. Labeling

3. Segregation
4. Inclusion

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.17 A condition characterized by ‘difficulty in memorizing number sequence, comparing any
two or more numbers and connecting number concept to symbolic form’, is referred as

Options 1. Dyslexia

2. Dysphoria
3. Dyspraxia
4. Dyscalculia

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.18 Gender schema theory explains

Options 1. heteronormativity in the larger society

2. children’s attachment to the opposite gender parent
3. the psychosexual stages of development

4. how children learn gender roles

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.19 Which of the following is a barrier to problem solving?
Options 1. Means-end-analysis
2. Functional fixedness
3. Working-Backwards strategy
4. Heuristics

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 As per Howard Gardner’s theory of multiple intelligences, ‘the ability to be aware of one’s
own emotional state, feeling and motivations ‘ is called:

Options 1. Linguistic Intelligence

2. Interpersonal Intelligence

3. Intrapersonal Intelligence

4. Logical-mathematical Intelligence

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.21 Anita watches a youtube video to understand the process of baking a cake and then bakes
a cake following exact steps. Which kind of learning is taking place in this case?

Options 1. Operant conditioning
2. Insightful learning

3. Observational learning
4. Classical conditioning

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.22 What is the primary role of a teacher according to Lev Vygotsky?

Options 1. To transfer information to the students and focus on exact reproduction.
2. To promote children tolearn using rewards and punishment.

3. To enhance memorization skills of children.

4. To scaffold children’s thinking.

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.25 Assertion (A) : For meaningful learning to take place, it is important that children feel
loved and valued

Reason (R ) : Emotions play a significant role in condition

Choose the correct option.

Options 1. Both (A) and (R are true but (R ).is not the correct explaination of (A)
2. (A) is true but (R) is false

3. Both (A) and ( R) are false

4. Both (A) and (R ) are true and (R) is the correct explaination of (A)

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.27 Students prior knowledge and understanding
Options 1. hinder teaching — learning process

2. areirrelevant for teaching — learning process
3. play minute role in teaching — learning process
4. facilitate teaching - learning process

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.29 is the most effective strategy to respond to the errors made by a
student.

Options 1. Humiliating the students in front of others

2. Straightforwardly telling the answer to the child

3. Deducting the marks without any comment

4. Asking the students to reflect on the process of solving.

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.2 which of the following statements is/are true in the context of fertilisation and pollination in plants.
A. Ovary of the flower matures into fruit.
B. Seeds of the plant forms the ovules for fertilisation.
C. Pollination takes place after fertilisation.
D. In pollination, seeds are dispersed by wind, water, birds and insects.
E. Fertilisation takes places in the ovules.

Options 1 B, E
2.B,C
3. AE
-G D

N

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.4 Which of the following statements is not true regarding modes of transfer of heat?
Options 1 Conduction can take placeiin gases
2. Radiation cannot take place in gases

3. Convection takes place in liguids and gases:only
4,
Heat can be transferred through more than one mode simultaneously

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.5 IfF, Vand E are respectively the number of faces, vertices and edges of a hexagonal pyramid, then which of the
following statements is true?

Options 1. 9F4+2V-E=15
2. 3F+2V-2E=10
3. 2F+V-E=9
4. 2F+V-E=8

Question Type : MCQ

Chosen Option : --

Status : Not Answered




Q.6  Read the following statements and choose the correct option.

Assertion (A) — The leaves of carrot plant has reticulate venation.

Statement 1 (S1) — Plants having taproots have leaves with reticulate venation.
Statement 2 (S2) — Plants having fibrous roots have leaves with reticulate venation.
Statements 3 (S3) — There is no relation between type of roots and venation in leaves.

Options 1 A and S2 are true and S2 supports A
2. Aand S3 are true
3. Alis not true and S3 is true

. A and 51 are true and 51 supports A

N

Question Type : MCQ
Status : Not Answered
Chosen Option : --
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Question Type : MCQ
Status : Answered
Chosen Option: 1
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Question Type : MCQ
Status : Not Answered
Chosen Option : --
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 1




Q13 |dentify the following

A— A non-metallic lubricant

B — A metal which does not react with water but reacts with steam
C — A metal which is constituent of baking powder

D —a non-metal used in fire crackers

A, B, C, D respectively are

Options 1 phosphorus, Zine, Sodium, Sulphur
2. Phosphorus, Copper, Calcium, Sulphur
3. Carbon, Copper, Sodium, Phosphorus
4. Carbon, Copper, Calcium, Sulphur

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.15 Sides of a triangle are of lengths 12 cm, 13 cm and 5 cm. Then, altitude correspending to the longest side of the
triangle is

Options =]
1. 2— cm
13

4

2. 2— cm
13
s

3. 4— cm
13

g
4. 4— cm
13

Question Type : MCQ
Status : Not Answered
Chosen Option : --
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Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.17 A middle school mathematics teacher uses paper folding and dissection activities with her students for explorations in
symmetries and geometric shapes. The students are able to observe geometrical properties of different shapes, verify
properties without formal proofs, make connections between various shapes. According to Van-Hieles theory of
development in geometry, the students are reasoning at the level of:

Options 1. Axjomatics
2. Establishing Relationships
3. Analysis

4. Recognition

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18 which of the following episodes best illustrates the tentative nature of science

Options 1.

A teacher holding a classroom discussion about the limitations of various conceptualisations of structure of atom like
Thompson’s plum pudding model , Rutherford’s atomic model

2.

Teacher asking open-ended questions to probe students alternative conceptions regarding the nature of matter
3.
A teacher asking students to share their experiences with different kinds of materials which they come across in their
daily lives

4.
Teacher drawing a diagram to explain the structure of atom and also highlighting its various features

Question Type : MCQ
Status : Answered
Chosen Option: 3




Q.19 The following steps are involved in a dairy plant to prepare clarified butter/Ghee.

A. Milk is pasteurised

B. Then milk is set into curd

C. Curd is churned in centrifuge to separate butter

D. Butter is heated to get clarified butter (Ghee)

E. Filtered and packed

Which of the following above steps are physical changes and chemical changes?
Options 1 physical changes — A, C, E : chemical changes — B, D
2. Physical changes—C, D, E ; chemical changes— A, B

3. Physical changes—A, C,D,E  ; chemical changes — B

4. Physical changes—C, E ; chemical changes—A, B, D

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 “Examinations and class tests add to mathematics anxiety in some students”. Which of the following is true for
mathematics anxiety according to the given statement?

Options 1.

Mathematics anxiety can be addressed by making assessment an integral part of the daily mathematics instruction
with the focus on the progress of the student.

2.
Students with mathematics anxiety should be exempted from giving examinations.
3.

Students facing mathematics anxiety should be asked to take a greater number of tests to overcome the anxiety.
4.
Students overcome mathematics anxiety by practicing a lot of questions before the examination.

Question Type : MCQ
Status : Answered
Chosen Option: 1
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option: 3
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Question Type : MCQ
Status : Answered
Chosen Option : 4

Q27 Read the following statements and choose correct response.
Assertion (A): A horse shoe magnet is a very strong magnet.
Reason (R): The poles of horse shoe magnet are very close to each other.

Options1. path A and R are incorrect.

2. Ais correct but R is incorrect.
3

Both A and R are correct but R is not correct explanation for A.

4. Both A and R are correct but R is correct explanation for A.

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q28 \Which of the following statements is/are true regarding fungi
A) They are plants
B) They cannot perform photosynthesis
C) All fungi are unicellular
D) some fungi help in producing antibiotics
Options 1 ﬂ, B, D

2B,CD

3. A,CD

4. A B, C

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q29 A teacher takes her class VI students to a nearby garden and asks

them to look at various plants and fill the following table by ticking
in appropriate column.

Plant Name Height Stem
Shorter | Much | Slightly | Green | Tender | Thick | Hard
than Taller | taller
Me than than
Me Me
1. Tulsi
2. s
3o

Which of the following process skill(s) would this activity require?
A. Observing
B. Hypothesising
C. Classifying
Options 1. ARC

2B&C

3. A&B

4 AB&C

Question Type : MCQ
Status : Answered
Chosen Option: 1




Options 1.

@30 which of the following statements is NOT true?

HCF and LCM of two numbers x and y are 15 and 120 respectively.

2

LCM and HCF of two numbers X and y are 290 and 58 respectively.

3

LCM and HCF of two numbers x and ¥ are 70 and 14 respectively.

4

HCF and LCM of two numbers X and ¥ are 20 and 250 respectively.

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.31

Which of the following represents correct matching set of part of human

eye and its function?

a) Cornea i) Controls the amount of
light entering eye

b} Iris ii)  Acts as screen for the
image

¢) Pupil iii)  Holds the lens in positions

d) Retina iv)  Helps in focusing light and
protects eye

e} Ciliary Muscle v}  Light enters eye through it

Options | 5 _ (iv), b — (i), c— (v), d — (ii), & — (iii)

2. a—{iii), b—(iv), c —(v), d — (i), e —{i)
3. a—(v), b—{(iv), c— (i), d = (i), e — (iii)
4. a—(ii), b—(iii), c = (v}, d = (i), e —(iv)

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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3. 32
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option: 1
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.40 A mathematics teacher records classroom observation either during or after the lesson by writing short notes in a brief
narrative style. It is an example of maintaining:

Options 1. ~hecklist
2. Portfolio
3. Rubrics

4. Anecdotal Records

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.54 The curved surface area of a right circular cylinder is one-third of its total surface area.

If radius of the cylinder is 8 cm, then volume of the cylinder (in cm3) is
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Q.59 A middle school mathematics teacher asks his students to construct a rectangle with length 7 cm and breadth 4 cm. As
the students completed the task, he further instructs them:
(i)  increase the length and breadth by 2 cm each and draw to see what figure you get
(i)  decrease the length and breadth by 2 cm and draw to see what figure you get
(iii)  increase the length by 1 cm and decrease the breadth by 1 cm. €an you predict the type of figure without

drawing?
Which principle of Zoltan Dienes theory of mathematics learning is he using in the above activity?

Options 1 - Dynamic Principle
2 Perceptual"ya_riabiiiw Principle
3. Constructivity Principle

4. Mathematical Variability Principle
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2
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SubQuestion No : 13
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Options 1. 1

2.2
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Question Type : MCQ
Status : Answered
Chosen Option: 3
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Chosen Option : 3
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Question Type : MCQ
Status : Marked For Review
Chosen Option : 1
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Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 1

Q@1 Dr Kurien led Shastriji out of his home through the back

door:
1. to hide his identity.
2. to show him a picture of rural India.
3. crowds were waiting outside the front door.
4. back door was more spacious.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.2

Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 2

How long did Shastriji stay with him?

One day

One day and one night
One night

Two days

o e

b

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 3

@3 National Dairy Development Corporation is now actively
engaged in the field of:

1. dairy industry
2. edible oils
3. production of pulses
4. only |l and 2
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 4

Q4 Study the following statements:
(a) Shastriji wanted Dr Kurien to broaden his vision on a
national scale.
(b)NDDB was to have Shastriji™ as its head.

1. (a) is right and (b).is wrong:
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right.
4. Both (a) and (b) are wrong.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 5

Q5 Study the following statements:

(a) Technicians and dairy experts helped NDDB to
experience an immense growth.

(b)Even small cattle farmers became rich landlords.

(¢) Dr Kurien was rightly nicknamed ‘milkman of
India’.

(a) is right while (b) and (c) are wrong.
(b) is right while (c) and (a) are wrong.
(b) is wrong while (b) and (c) are right.
(a) is wrong while (b) and (c) are right.

e b

e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whaole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 6

Q6  <speaked him out’
The underlined word means the same as :

1. slipped

2. pushed

3. asked

4. made
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 7

Q7 ‘humble cattle farmers’
The word opposite in meaning to the underlined word here

is
1. rich
2. meek
3. modest
4, naive
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Once in 1964, during late Prime Minister Lal Bahadur
Shastri’s visit to his house at Anand, Dr Kurien sneaked him out
through the back door to give him a taste of rural India. Shastriji
spent the whole night with him on the cot and the next day he
wanted Dr Kurien to “Transport the spirit of Anand”, to the rest
of the country. He also proposed the creation of a national body
to be headed by him. Therefore, for the propagation of the
cooperative dairy industry by tapping and channelising the
country’s milk potential, a separate body, namely, the National
Dairy Development Board was set up in Anand, with Dr Kurien
as its Chairman. It was supported by the best technicians and
dairy experts, as its members. Over the years, the Board has
assumed national status with the help of which within a few
decades, the growth of this industry has been phenomenal. Dr
Kurien has been mainly instrumental in bringing about the
transformation in the dairy industry. Besides milk, NDDB has
entered the field of edible oil production and sale, apart from
processing and sale of vegetables and fruits.

Dr Kurien created wealth in millions of small poor homes.
Nicknamed as ‘India’s doodhwala’(milkman), he and his
organisation, Anand Milk Union Limited, transformed the life of
humble cattle farmers throughout the country.

SubQuestion No : 8

Q8 ‘with the help of which .....’
The underlined word is a/an

Noun
Pronoun
Adjective
Adverb

ot b

.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 9

Q9 What did Ramlal do for a living?
He was a

clerk
copywriter
journalist
proof reader

S

>

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 10
Q10 How did he try to relax?

1. learned back in his chair
2. walked up and down the room
3. lay down in his recliner
4. both 1 and 2
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q.11

Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 11

Ramlal was'surprised to see Koshy as

Koshy did not live in the neighbourhood.
he had seen Koshy after a long time.
those were Koshy’s office hours.

he had heard that Koshy was unwell.

s

b

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 12
Q12 Ramlal invited Koshy upstairs as

1. he had completed his work.
2. he wanted to show it to Koshy.
3. both 1and2
4. he wanted to have coffee with him.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 13

Q13 <Jooked up and hesitated’
The underlined word means the same as:

1. stirred
2. waverad
3. agitated
4. scratched
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 14

Q14 <Jooking timidly around’
The underlined word is opposite inmeaning to:
1. shyly
2. boldly
3. suspiciously
4. curiously
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
correct options out of the given ones.

Ramlal had just cleared his table of proofs. He had finished
giving final touches to the editorial and edited a number of letters
to the editors. He massaged his aching fingers, leaned back in his
chair, got up, paced a few steps up and down, and then stood in
the door-way, looking at the lane. He was surprised to see his
neighbour, the bank clerk, walking down the lane. He called out
his name; “Koshy! Koshy!” The other looked up and hesitated.
Ramlal said: “Come up and see the ‘The Standard’. Koshy came
up, looking timidly around.

He asked: “Am I not disturbing you?”

“Not now,” Ramlal replied, “I'm fairly free. What brought
you home so early? Have you no office?” The other seemed
reluctant to notice so many questions. He merely pursed his lips,
drew up the pin-cushion, and started pulling out the pins and re-
arranging them. Ramlal observed him for a while and asked,
“How is your boss?”

“Bad as ever” he replied. *“To-day I wanted an hour off,
and how he shouted when he heard it. My ear-drums are still
trembling”.

“He let you off?”

“Oh, yes. He exhausted himself so much that he banged the table
and said, Damn it. You are persistent. But don’t do it again, and
so I am here.” He laughed. “It is his usual way of blessing any
idea that I conceive. I have grown used to it.”

“Rarely do people come up this way,” Ramlal said
testingly.

SubQuestion No : 15

Q15 The other seemed reluectant ... ..
The underlined word is a/an

Noun
Verb
Adjective
Adverb

S et

.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.16 “Based on your understanding of the story. do you think Ravi will win Sati over?" This question is

1. checking factual reading.
2. checking extrapolative reading.
3. eliciting information.
4. checking a vocabulary concept.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.17  Which of the following statements regarding the use of language games is incorrect?

1. They can be used for revising previously taught language.
2. A game can be used as a warm up activity
3. A game distracts students from the objectives of learning.
4. Establishing the connect between a game and learning objectives is challenging.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18 Which approach to writing gives scope for learners to undergo different stage of writing in order to learn to write?

1. Product Approach
2. Process Approach
3. Communicative Approach
4. Lexical Approach

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.19 Which of the following is not advocated by the National Education Policy (NEP) 20207

Study of a classical language from the early years of schooling.
Study of a classical language as an additional language during the secondary stage.

D e

3. Mother tongue / home language as medium up to class V and possibly up to class VIII.
4. Study of (other) Indian languages as option under three language formula.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.20 Which of the following is an activity for promoting Basic Interpersonal Communication Skills (BICS)

. Astudy skill activity in which learners read an essay on climate change to make notes.

. Listening to a radio talk on the origin of COVID 19 and it impact on economy of developing countries.
. A conversation on abolition of capital punishment.

. Adialogue between learners on their day-to-day routines.

BOWOR —

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.21 According to Stephen Krashen, if a learner is at a stage 'I', then acquisition takes place when she is exposed to
that belongs to level 'i + 1",

. enough input

. incomprehensible input
. comprehensible Input

. hot enough input

Bt o—

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q22 Which of the following is an interaction based task for language learning?

1. Learners do a two-minute extempore speech on a topic.
2. Learners think aloud to describe a picture.
3. Learners write an essay on a given topic.
4. Learners do a group work as they read a text.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.23 Pprovided below are ideas for teaching speaking. Identify the idea that is not so useful.

It gives students some thinking time before they speak.

The topic for practicing speaking must be chosen carefully.
It’s helpful to base a speaking lesson on a listening lesson.
It’s useful to do error correction when students are speaking.

2w

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q24 Which of the following is NOT a concept from language education?

1. Immersion
2. Comprehensible input
3. Event-related potential
4. Scaffolding
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.25 Here is a classroom interaction between a teacher and her students.

Teacher-**So what kind of food do vou eat for dinner in your family (2 seconds later)
OK. Not sure? Not to worry.”
The teacher

L. asks a question for which the answer is obvious.
2. does not provide enough time for answering.
3. should have used simpler language.
4. asks a question for which the answer is too long.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.26 “Itook my students to the computer room. I suggested them to do some writing. All they did was send messages to their
friends.” Why did that happen?

The teacher did not provide clear instructions.
. The teacher allowed them too much freedom.
. The teacher changed the location of the class.
. The students did not feel motivated.

1
2
3
4

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.27 Which of the following are not a feature of authentic materials?

1. Authentic texts contain cultural information.
2. Authentic texts can be found in dictionaries.
3. Newspapers, hoardings and brochures are examples of authentic texts.
4. Authentic material can look dated very quickly.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option: 2
Q.28  The study of World Englishes-varieties of English used in diverse sociolinguistic contexts-represents in

research and teaching.

. anew approach
. arevolution

. a sea change

. a paradigm shift

o 1D e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.29 “Ask students to organize a continuous stream of text into paragraphs™. This is a question on

1. reading
2. writing
3. vocabulary
4. grammar
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




|Options 1. 1
2.2
3.3
4.4

P e

Q.30  Ateacher in her grammar class introduces rules of the grammar first and makes them understand how the form behaves
and how to use it in contexts. She then gives lots of tasks for learners to practice the language item. What is this process

of teaching-learning grammar is known as?

Content knowledge

. Procedural knowledge
. Declarative knowledge
. Process knowledge

Question Type : MCQ
Status : Answered
Chosen Option : 1

addazy




